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Sl. No.1
QBID:1007026

Choose the appropriate preposition to complete the sentence.

We have been living in this city ————— 2010.

(1) for
(2) since
(3) from

(4) about

(1) () - =
(2) @M (SgAT) - M
(3) T(FM)-®|

(4) g9 (5 - |d

1[Option ID=1601]
2[Option ID=1602]
3[Option ID=1603]
4[Option ID=1604]

Sl. No.2
QBID:1007027

Identify the meaning of the underlined idiom from the options given.

Sonal always gives a cold shoulder to Ritesh because of his anobbish behaviour.

(1) insults him whenever she meets him

(2) argues with him on any issue

(3) shouts at him whenever she sees him

(4) tries to be unfriendly to him
freferfiga | 326 weoama FH-91 ves s 27

(1) simfyafirs

(2) U=

(3) e

(4) safefas

1[Option ID=1605]




2[Option ID=1606]
3[Option ID=1607]
4[Option ID=1608]

Sl. No.3
QBID:1007028

Choose the correct option to make a meaningful sentence

Sasha that she would get a part in the inheritance left by her grandfather.

(1) has hoped
(2) 1s hoped
(3) had hoped

(4) have hoped

o= 1% e = 11 %1 fuerm Fifse

Hefi-1 He-1T
(A) HUETEd O TroFwadgmag
(B) HeFardl (ID) = A
(C) fdef (IID) &t g 330 1 FE &
(D) e (V) He | dieA Jrefl
1= fou o faseai 4 | |l 39 %1 =F Fife

1) (A-IID. B)-IV). (C)-(D). (D)-(ID
(2) (A)-(D). (B)-(ITD), (C)-(IV), (D)-(I)
(3) (A)-(ID. (B)-(D, (C)-II), (D)-(TV)
(4) A)-IV). (B)-dI). (C)-(I), (D)-II)

1[Option ID=1609]
2[Option ID=1610]
3[Option ID=1611]
4[Option ID=1612]

Sl. No.4
QBID:1007029

Identify the correct form of noun of the word given below.
Abject

(1) abjectly

(2) abjection

(3) abjectively

(4) abjects




1 @t weF fu e 7 us AfEeR (Assertion (A)) % &9 H fifigd @ @1 g0 36 #1001 (Reasons (R)) %
F4H :

i (A) : et Feredi o o 6 SR o i JaeRers R 2
H (R) : vt HJFERTE | T €T 2 o6 T =i [ g aEd T o 9 2
ITH HYA & e °, I fau e fawean 8 § ged 3uge I &1 997 Fifse

(1) Q) IR HTEE 2 3 (R), Q) F 51 =M= 2

(2) (A) R (R) 3 98 8, 6 (R), (A) i w21 =aven 96 2
(3) (A) w2, Al (R) 581 8 @

(4) (A) @@ 7, dfFa (R) 98 2

1[Option ID=1613]
2[Option ID=1614]
3[Option ID=1615]
4[Option ID=1616]

Sl. No.5
QBID:1007030

Identify antonym for the underlined word in the sentence.

The NGO focused on those women who had succumbed to his sweet lies and personality.
(1) identified
(2) oOvercome
(3) given up

(4) surrendered

= 2t #u faw e E : v sifiusem (Assertion (4)) % ¥ # fafigd 2 @ @0 38% FW01 (Reasons (R) #
w0 ;

sfimra (A) : FI0 e 3T SR Fk o 0 ° fafaE =5 wgm e s 21

1] (R) - ST g1 sl | e fawFa sver-srem &9 8 wge 2l 21 00 s 4 9 3 forn #
T 1 AN E1 2, Safh FAEH Fen H A H ford awg % e 9 & 9 v @ 8l

I F9H F A 4, 4 2 e § 8 wd s = fifsg

(1) (A) 3T (R) SH T 2 31 (R), (A) F1 5 =ameT 2

(2) (A) 3 (R) i |ea &, af (R), (A) 1 w8 samen ¢ 2
(3) (A) ¥ 2, Al (R) 9974 2

(4) (A) 34T 2, o4 (R) Ged 2

1[Option ID=1617]
2[Option ID=1618]
3[Option ID=1619]
4[Option ID=1620]




Sl. No.6
QBID:1007031

Find correctly spelt word from the options given below.
(ONLY one word is spelt correctly)

(1) Harassment

(2) Embarassment

(3) Agrement

(4) Alotment

foerferfie o om & -
(&) TETEE
(B) F@Fa

(C) T

(D) TH:3R
(E)  offt-om
A= e o el 0 4 dl 39T 1 =9 it ;

(1) (A). (B) 3 (C)
(2) (A). (B) 31 (D)
(3) (B). (C) 31 (E)
@) (0. (D) 3 (E)

1[Option ID=1621]
2[Option ID=1622]
3[Option ID=1623]
4[Option ID=1624]

Sl. No.7
QBID:1007032

Identify the correct passive voice for the sentence given below :

People consider that Sajesh 1s honest and trust worthy
(1) It was considered that Sajesh was honest and trust worthy.
(2) We were considered that Sajesh was honest and trust worthy.

(3) Itis considered that Sajesh is honest and trust worthy.

(4) It will be considered that Sajesh is honest and trust worthy.




1= gl e feumu &

Fya 1. T 00 i of 1 = w9 g aa )

FUAI: e sl A o © 3f 3t 1 S ged @ e g 2

I FeH & Arelrs H, A= fgu o e | | ud 3 o ==m Fifs

(1) FHyq I 3R I1EH a1 2

(2)  =hyq I 3 1S TeAd 2
(3) e [HE 2, SAfrd Fud I Terd 2

(4) FUE [7Temd 2, dife Fe[ [T He 2

1[Option ID=1625]
2[Option ID=1626]
3[Option ID=1627]
4[Option ID=1628]

Sl. No.8
QBID:1007033

Identify the correct indirect speech for the sentence given below.
Manju said. “T printed the invitations and he faxed it”.
(1) Manju told that she printed the invitations and him faxed it.
(2) Manju suggested that she printed the invitations he faxed 1t.

(3) Manju asked that she printed the invitations they faxed it.

(4) Manju said that she printed the invitations and he faxed it.

< 21 oM U e # : uF A0 (Assertion (A)) % 9§ fofigd 2 o g4 6% #1001 (Reasons (R)) F
w9H :

HAfFH (A) - forefl =l g e a1 = F fore Ford gerat =01 wam T S 2, @ 2 - 2y g die
RERIN

F0 (R) wAfgen § 37l o T 39 HETA %1 1S ash &d 319 e e |
I e & ATl 4, = fgu e Eeedi | 98 I 1 =59A Fifau

(1) (A) 3 (R) &9 & € 3 (R), (A) i #e =3 2

(2) (A) 3 (R) 3HI 973 &, A (R), (A) F1 T8 A 44 2

(3) (A) 9™ 2, A (R) 594 2

(4) (A) @ 8, A R) wea @

1[Option ID=1629]
2[Option ID=1630]
3[Option ID=1631]
4[Option ID=1632]




Sl. No.9
QBID:1007034

Given below are four sentences in jumbled order. Select the option that gives their correct

order.

(A) We ascribe to them supernatural powers.
(B) But let’s not be naive - cats do what they want.
(C) We even make them embody our deepest wish. immortality.

(D) We poor humans make cats depositories of our desires : we find them mysterious, we

make them gods.

Choose the correct answer from the options given below :

(1) (D). (A), (C). (B)
(2) (D). (C). (B). (A)
(3) (B). (D). (C). (A)

(4) (A). (C). (B). (D)

Frrerferfiaa # =t= wreg B = wmrnefi &7

(A)
(B)
(C)

(D)

A 49 4 4

(E)

1= e o fasrei 4 & & 3w 1 =9 it

(1) e (A), (B) 3 (C)
(2) F&d (A). (C) 3 (E)

(3) FaA (B). (C) (D)

(4) = (C). (D) 3T (E)

1[Option ID=1633]
2[Option ID=1634]
3[Option ID=1635]
4[Option ID=1636]

Sl. No.10
QBID:1007035

From among the four options given. choose the grammatically correct sentence.

1)




Millions of us take a multivitamin every day and we feel confident that we are getting
results.

, Millions of us taking a multivitamin every day and feeling confident that we are
) getting results.
Millions of us take a multivitamin every days and we felt confident that we is getting

3
) results.

Millions of you take a multivitamin every day and we feel confidence that we are get

@ result.

Trerferfiaa arrm 1 3faa Fagear safem Fifw -

(a) Toazad
(B) & e
(C) Tamadse

(D) T @R TE

(E)  Wfed o 39T A== €0 9T

1 farw mu faeredi F & |l 39 = =g i
(1) (A). (B). (C). (D). (E)
(2) B). (C). D). (E). (A)
(3) (C), (B), (D). (E). (&)
(4) (D). (E), A). B). (C)

1[Option ID=1637]
2[Option ID=1638]
3[Option ID=1639]
4[Option ID=1640]

Sl. No.11
QBID:1007036

Consider the following pairs :

(A) Chapchar Kut — Mizoram
(B) Khongjom Parba ballad — Manipur

(C) Thang-Ta dance — Sikkim

Choose the correct answer from the options given below :

(1) (A) and (B) only
(2) (A) and (C) only
3) (B)and (C) only

(4) (A). (B) and (C) only




fepferfiera i foreme i -

(&)  =EE e - fE
(B) T v deells - Hing
(C)  wm-z19e4 - faferm

1 Tau o fasreai 6 | |8 3w 0 =9 e

(1) Fad (A) 317 (B)

(2) Fa (A) 3 (C)

(3  Fad (B) 31 (C)

(4) H9 (A), (B) 3 (C)

1[Option ID=1641]
2[Option ID=1642]
3[Option ID=1643]
4[Option ID=1644]

Sl. No.12
QBID:1007037

Match List I with List IT

ListI
(A) Fourth Schedule (D
(B) Sixth Schedule (IT)
(C) Eighth Schedule (III)
(D) Tenth Schedule (IV)

List IT

Administration of Tribal
Areas of Assam. Meghalaya.
Tripura and Mizoram

Anti-Defection Laws

Allocation of Seats for State
and UT's in Rajya Sabha

Official Languages

Choose the correct answer from the options given below :

(1) (A)-@. B)-D. (O, (D)-AV)
@ (A)-@. ®-I). (O-IV). O)-1D
(3) (A)-QV). (B)-(ID. (O)-aD. @)-O
(@) (A)-0ID. B)-0). (©)-IV), D)-ID




| T o | = T e Fifsu

1T g1
(A)  =Nefl s (D 3w, qared, Bga siv b
ST #1311 T
(B) @i sl D) & sea-faH FrE
(C) sl sgyHi (D) Tr=aaq1 | a1 3 deenia sE
2 il =1 fafaas
D) =z @) snfasie s

et few 7o faeredi O @ ol 3w o1 = il

(1) (A)-D. (B)-(II). (C)-(ID). (D)-(IV)
(2) (A)-(D). (B)-(ID). (C)-(IV). (D)-(ID
(3) (A)-IV), (B)-II), (C)-aD). (D)-(
(4) (A)-IID), (B)-d). (C)-(IV). (D)-(IL)

1[Option ID=1645]
2[Option ID=1646]
3[Option ID=1647]
4[Option ID=1648]

Sl. No.13
QBID:1007038

Arrange the following in chronological order :

(A) Tughlags

(B) Lodhis

(C) Sayyids

(D) Ilbari Turks
(E) Khaljis

Choose the correct answer from the options given below :

(1) (B). (A). (C). (D). (E)
(2) (E). (A). D). (C). (B)

(3) (D). (E). (A). (C). (B)

(4) (D). (C). (B). (A). (E)




f=fcrfiaa = e n § sgafiua Ff -

@A) e
(B)  elidl
(C) Hee

(D) zoand g

(E) Taesh

i Tau o faeredi o | | 39 o1 =34 fife

(1) (B). Q). (). D). (E)
(2) (E). (A). D), (C). (B)
3) D). (E), Q). (O). (B)
(4) (D). (C). (B). (A). (E)

1[Option ID=1649]
2[Option ID=1650]
3[Option ID=1651]
4[Option ID=1652]

Sl. No.14
QBID:1007039

Who is won the Nobel Prize in Literature 20217
(1) Haruki Murakami
(2) Abdulrazak Gurnah
(3) Paul Kegnor
(4) dJoseph Stuart
a9 2021 AT o Alslel R s #1427
(1)  @Rehl T
(2) HHEEetsTE He
(3)  ufdA F=H
(4) SIIE w2

1[Option ID=1653]
2[Option ID=1654]
3[Option ID=1655]
4[Option ID=1656]

Sl. No.15
QBID:1007040

Who has been appointed as the new vice-president of NITI Aayog?

(1) Suman Berry

(2) Rapnv Kumar




(3)  Surjit Bhalla

(a) dJay Bhattacharya

i ST o 74 3N o w9 4 R g fem
(1) gy =
(2) TrEfia Fun
(3) YTl woe
(4) 13 9z

1[Option ID=1657]
2[Option ID=1658]
3[Option ID=1659]
4[Option ID=1660]

Sl. No.16
QBID:1007041

If IMAGE 1s written as 0913010705, then how will BOUGHT be written as
(1) 215021708112
(2) 021521070820
(3) 040603122612

(4) 025121702180

af¢ IMAGE %1 0913010705 i & foman st 2 61 BOUGHT &1 4 foran strom?
(1) 215021708112
(2) 021521070820

(3) 040603122612

(4) 025121702180

1[Option ID=1661]
2[Option ID=1662]
3[Option ID=1663]
4[Option ID=1664]

Sl. No.17
QBID:1007042

In a family, there is a man, his wife, his father-in-law, two sons, their wives and two
daughters. One son has two daughters and the other son has three sons. How many total
members are in the family?

1) 12

(2) 14

3) 15

(4) 13

ek ufram § ve ey, 3eefl uedl, 3ue v, 9 92, Il of i sfw 4 afear §) v a2 o) 4 afeai 8 sigat
A2 % ofH o1 8| wiEn H fet oo w37

1)




1[Option ID=1665]
2[Option ID=1666]
3[Option ID=1667]
4[Option ID=1668]

Sl. No.18
QBID:1007043

Six friends Geeta, Suresh. Mani. Pradeep. Deepti and Rekha are sitting in a circle facing the
centre. Deeptl 1s to the left of Pradeep. Mani is between Geeta and Suresh. Rekha 1s between
Deepti and Geeta. Who 1s sitting immediate left of Suresh?

(1) Deepti
(2) Pradeep
(3) Geeta
(4) Rekha

e, g, afon, wdm, €ifd oiR e @ firm & S vk g9 ° g9 % ez 6 0 gr w0k o3 2| fifn v % 9 s
21 ufoy e s gee o sfta 4 21 v i ol i o offe 1 2) e 5 9 o e e A e 27

(1) iy
(2) &M
(3)
(4) T

1[Option ID=1669]
2[Option ID=1670]
3[Option ID=1671]
4[Option ID=1672]

Sl. No.19
QBID:1007044

Relationship between two words is given in a sentence. Use the same relationship to find out
which choices complete the relationship with the third word?

Oar is to Rowboat as foot is to
(1) Running shoes
(2) Excercising
(3) Skateboard
(4) Leg

et we e | 91 wredi o oft o weaey T 2 ) 3w o 39gm e fou o fasedi 4 & 97 wss g
1 ofF 9Teq % H1e HER ol | FOL o] S Ha 19 B d 2 ad uia a2l

1)




(2) =A™
(3) “hedals
(4) @i

1[Option ID=1673]
2[Option ID=1674]
3[Option ID=1675]
4[Option ID=1676]

Sl. No.20
QBID:1007045

Find the wrong number on the given sequence of numbers —
816, 844. 821, 849, 823, 854, 831

(1) 854

(2) 821

(3) 849

(4) 823

HE Al = = f5u e s1gen H etd | i deeE it -
816, 844, 821, 849, 823, 854, 831

(1) 854
(2) 821
(3) 849
(4) 8213

1[Option ID=1677]
2[Option ID=1678]
3[Option ID=1679]
4[Option ID=1680]

Sl. No.21
QBID:1007046

Arrange the following fractions (A-D) in their descending order.

Aa)  3/5
B  4/7
(©  8/9
D)  9/11

Choose the correct answer from the options given below :
1) (C). (D). (B). (A)

(2) (A). (D). (C). (B)

(3) (D). (C). (B). (A)

(@) (C). (D), (A). (B)




Feafefiga fasi 1 395 92d 79 1 ey

(A) 3/5
(B) 4/7
() 8/9
(D) 9/11

4 fou o feredi O O el 3 1 =99 i

1) (C). D). (B). (&)

(2) (A). (D), (C). (B)

(3) (D). (C). (B). (4)

(@) (C). (D). (A). (B)

1[Option ID=1681]
2[Option ID=1682]
3[Option ID=1683]
4[Option ID=1684]

Sl. No.22
QBID:1007047

IF13 +2% + 3% + ...+ 9% =2025, then the value of

(0.11F +(0.22F +.....+(0.99F is close to :

(1) 0.2695
(2) 0.3695
(3) 2.695
(4) 3.695

afs 1°+2% +3% +

(1) 0.2695

(2) 0.3695
(3) 2.695
(4) 3.695

1[Option ID=1685]
2[Option ID=1686]
3[Option ID=1687]
4[Option ID=1688]

+(0.99) =1 uw e & faz @ -

Sl. No.23
QBID:1007048

The simplified value of
1 1 ]+

n/
(1)

#

Ll—%)+

.

11 —i]-— ween. Upto n terms is :
T

ni2

2 (n-1)/2




3) nn-1)/2

@) 1/n

11—1)—(1—3}+(1—E]+ ..... n 9E1 e %1 Sl 7149 = 80 -

n. n. n.
1) n/2
2 (r-1)/2

3) nn-1)/2
4) 1/n

1[Option ID=1689]
2[Option ID=1690]
3[Option ID=1691]
4[Option ID=1692]

Sl. No.24
QBID:1007049

A.B.Cand D share a property worth £ 77.500.If A:B=3:2, B:C=5:4 and C:D=3:7,
then what is the share of B ?

(1) 20,000
(2) ¥ 15,000
(3) ¥25.000

(4) ¥ 14.000

AB.C3t D 77,500 fl v goafa A feien 219fz A:B=3:2. B:C=5:4 30 C:D=3:7,dl
B 1 fax fran 27

(1) ¥20.000
(2) % 15.000
(3) 25,000
(4) %14.000

1[Option ID=1693]
2[Option ID=1694]
3[Option ID=1695]
4[Option ID=1696]

Sl. No.25
QBID:1007050

In a mixture. the ratio of the alcohol and water is 6 : 5. When 22 litre mixture is replaced by
water, the ratio becomes 9 : 13. What is the quantity of water after replacement?

(1) 62 litres
(2) 50 litres
(3) 40 litres

(4) 52 litres




v fazor 1 vesreel R Ol 1 FTE 6:5 21 " 22 e Mg 1 ol J feenfod #ed 2 91 98 S 0013
&1 9 81 wfeerrs % &g 9 < aren fRa1 27

(1) 62l
(2) 50 efiet
(3) 40wl
(4) 52 eflE

1[Option ID=1697]
2[Option ID=1698]
3[Option ID=1699]
4[Option ID=1700]

Sl. No.26
QBID:1062001

As the load factor decreases, the cost of electricity per kWh

(1) Decreases
(2) Increases

(3) HRemains the same

(4) Does not depend on the load factor

ST RO (load factor), Sz & a1, forega it o wfa f6.a1.59. (KWh) I

1) gt
(2) =t 7
3) mEwEdz

(4) ¥R (load factor) & Fsf = et 21

1[Option ID=2001]
2[Option ID=2002]
3[Option ID=2003]
4[Option ID=2004]

Sl. No.27
QBID:1062002

The total installed capacity of a power plant can be determined from

(1) Peak demand estimated

(2)  Growth of demand anticipated

(3) Reserve capacity required

(4) All of the above

FA1 7 i A F U A § ¥ e w w2
(1) s=m =i F sweE F

(2) g ¥ s

(3) wfera s it s % AMUR W

(4) I gsht

1[Option ID=2005]
2[Option ID=2006]




3[Option ID=2007]
4[Option ID=2008]

Sl. No.28
QBID:1062003

The loads supplied to the Consumer is tabulated below :

Time (h) D-4 | 4.6 | 6-8 | 812 | 12-13 | 13-17 | 17-19 | 19-20 | 20-24
Load in KW | 50 | 150 | 300 | 50 50 50 300 200 100
What is the Load factor?
(1) 9.166
(2) 11458
(3) 0.238
(4) 0.382
II'HT-[[EIJ 0-4|46 | 6-8 | 812 | 12-13(13-17|17-19| 19-20 | 20-24
WL%&F’I‘I?J 50 | 150 | 300 | 50 a0 50 300 200 100

(1) 9.166
(2) 11458
(3) 0.238
(4) 0.382

1[Option ID=2009]
2[Option ID=2010]
3[Option ID=2011]
4[Option ID=2012]

Sl. No.29
QBID:1062004

Primary source of energy is the
(1) Nuclear Energy
(2) Water
(3) Sun
(4) Wind
FAT I TAEF HA B -
(1) i i
(2) ==
(3) T
(4) w=+

1[Option ID=2013]
2[Option ID=2014]
3[Option ID=2015]
4[Option ID=2016]

Sl. No.30
QBID:1062005

The maximum demand on a power station is 200 MW. If the annual load factor is 40%,

Calculate the total energy generated in a year.

(1) 3504 x 10°kWh




(2) 7008 x 10°kWh

(3) 3504 x 10'kWh
(4) 7008 x 10° kWh

U FA1 §FF W 3AEaH /i1 200 (F.31.) (MW) & 3f2 arfifs wmoaue 40% @ @ o aiftfs s eamea w0
et 7

(1) 3504 x 10° FR.aTHE. (kWh)
(2) 7008 x 10° for.a1.5. (kWh)
(3) 3504 x 10" fF.arH. (kWh)
(4) 7008 x 10° f.a1.5. (kWh)

1[Option ID=2017]
2[Option ID=2018]
3[Option ID=2019]
4[Option ID=2020]

Sl. No.31
QBID:1062006

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A):  Thermoelectric power generation work on the principle of Faraday's law.
Reason (R) : When an electric conductor moves across a magnetic field, a voltage is

induced in it which produces an electric current.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false
(4) (A)is false but (R) is true

= 2t o feu o B - o aAfirad (Assertion (A)) % #9 # foiflad @ & 390 365 S0 (Reason (R)) % &9
q:

srfirme (A) - o -3ega wifer I e o Forerm o R e 21

A (R) : W U GeTerh UF grahid 4 | o e @, 0w o deds o S @ it forege g
Iea Lt B

I F9 % ST o, A o e frke § & @ 3w e i
(1) (A) 3R (R) 3t @ E sl (R), (A) 1 o =re

(2) (A) #(R) 5H Tea £, = (R), (A) 1 e saremn 21 8

(3) (M) Fae, &fF R) s 2

(4) (A) a3 &, AfF (R) T &

1[Option ID=2021]
2[Option ID=2022]
3[Option ID=2023]
4[Option ID=2024]

Sl. No.32
QBID:1062007




Arrange the following fuels as per the Calorific value (kJ/g)

(A)
(B)
(C)
(D)

(E)

Diesel
Hydrogen
Coal
Petrol

Biogas

Choose the correct answer from the options given helow :

(1) (B),
(2) (B),
3) (D),
4) (B),

(D). (A), (E), (C)
(4), (D), (C), (E)
(A), (E), (C), (B)
(C), (A), (B), (D)

feu mu fu = T oW % AR W sEieT =

(A)

(B)

(0

(E)

= fou U fTweal 9 9 98 I W 999 i

(1) (B).

(D). (A). (E). (C)

(2) (B, (A). (D). (C). (E)

3) (M

. (A), (E), (C), (B)

(4) (E)(C), (A). (B), (D)

1[Option
2[Option
3[Option
4[Option

ID=2025]
ID=2026]
1D=2027]
ID=2028]

Sl. No.33

QBID:1062008




Given below are two statements :

Statement [ : A steam power station basically work on the Rankine cycle.

Statement II ¢ The eost of generation of the steam power plant is very low.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement I1 are false
(3 Statement I is true but Statement II is false

{4) Statement [ is false but Statement II is true

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement II is true

= 71 e fou e E
Foa 1:  UF A9 FA 999 A 9% W FwE T 2

FoA I1: W9 St 59 i 309 o 95d A =l A

IYIE YA o A °, A6 50 T {TweT 9 | T SUAE S R =EA i
(1) FA 1A gd 8

(2) = 1 3 11 21 e &

(3) #u 1 4d &, ot s 11 e @

(4) a1 e 2, S w1 ad g

1[Option ID=2029]
2[Option ID=2030]
3[Option ID=2031]
4[Option ID=2032]

Sl. No.34
QBID:1062009

Which type of Power plant is non-polluting?

{A) Thermal Power Plant

(B) Diesel Power Plant

{(C) Hydroelectric Power Plant
(D)  Nuclear Power Flant

(E) Solar Power Plant

Choose the most appropriate answer from the options given below:
(1) (D) only

(2) (C)and (D) only

3) (E)only

(4) (C)and (E) only




TFE T T S HAA TEOTRA T 27
(A) 19 H1 G499

(B) i =l G

(C) af—w[{aq—r[—-ﬁ-im

(D) it == g9a9e

(E) ©@F =1 994

) Fae (D)

(2) FAe (C)an (D)

(3) ¥ (B)

(4) e (C) 741 (E)

1[Option ID=2033]
2[Option ID=2034]
3[Option ID=2035]
4[Option ID=2036]

Sl. No.35
QBID:1062010

Match List I with List IT :

ListI List IT
Fuses Capacity
(A) Striker fuse (D 12V-42V
(B) Expulsion tyvpe fuse {IIYy Less than 1000V
(C) Cartridge fuse (1) 25 KV
(D) Automotive fuse (IV) 1500V —-138000WV

Choose the correct answer from the options given below :
(1) (A)(IID, (B)-(IV), (C)-(ID). (D)-(T)
(2) (A)(IL), (B)~(III), (C)-(IV), (D)-(T)
(3) (ARIV), (B)-(IID), (C)-(1), (D)-(IT)
(4) (A)-(D, (B)-(ID), (C)-(I1T), (D)-(IV)




Tfi-1 % = geit-I1 =1 foere =it

g1 o111
kK Al
(A) T O 12V-42V
(B) TFIEE A (I) 1000V & =8
(C) FRA FH (II) 25 KV
(D) =mEmEiea = (TV) 1500V — 138000 V
= fou e § 9 WA I W =99 e

(1)  (A)-(IID, (B)-(IV), (C)-(ID), (D)-(T)
(2) (A)-(IT), (B)-(IID), (C)-(IV). (D)-(I)
(3) (A)-(IV), (B)-(I1L). (C)-(L), (D)-(IT)
(4) (A)-(D), (B)-(ID), (C)-(11D), (D)-(IV)

1[Option ID=2037]
2[Option ID=2038]
3[Option ID=2039]
4[Option ID=2040]

Sl. No.36
QBID:1062011

Which of the following is not a scalar quantity?
(1) Potential energy
(2) Kinetic energy
(3) Velocity
(4) Work
Frafafiga # & = = stfen ol adi 27
(1) feufrs i
(2) e st
(3) am
(4) =d

1[Option ID=2041]
2[Option ID=2042]
3[Option ID=2043]
4[Option ID=2044]

Sl. No.37
QBID:1062012

Determine the value of force P. which will just move the body of mass 25 kg up the plane as
shown in figure. Consider the co-efficient of limiting friction » = 0.3 and z = 9.81 m/s2

Mokio®

(1) 3436N




(2) 1436N

(3) 1346N

(4) 243.6N

= P 1 0F i St vk 25 T uw At @ # =a | guia 99En a9 9 F9 Al a0 s
= | TH T I TNE 4 = 0.3 T g = 9.81 HI/H* i)

ﬁ?a H_-_'_,_,_.-—? p

(1) 34367
(2) 14367,
(3) 13467,

(4) 24369,

1[Option ID=2045]
2[Option ID=2046]
3[Option ID=2047]
4[Option ID=2048]

Sl. No.38
QBID:1062013

A copper rod of diameter 20 mm and length 2.0 m has a tensile force of 5 KN applied to it.
The value of stress in the rod is

(1) 1492 MPa

(2) 1592 MPa

(3) 16.92 MPa
(4) 17.92 MPa

o A F1 B3 e = 20 Jd. au weE 2.0 9w 5 KN 1 a9 o9 o 3 2| 9% W o ard
(1) 14.92 MPa
(2) 15.92 MPa
(3) 16.92 MPa

(4) 17.92 MPa

1[Option ID=2049]
2[Option ID=2050]
3[Option ID=2051]
4[Option ID=2052]

Sl. No.39
QBID:1062014

The ratio of change of dimension of the body to the original dimension is known as
(1) Stress
(2) Strain
(3) Thermal strain

(4) Volumetric strain

e

it =g % W5e §U SR 9 go ATRR % I F A ¢ -




(1) vt
(2) /R
(3) it aar /fawfa

(4) e e

1[Option ID=2053]
2[Option ID=2054]
3[Option ID=2055]
4[Option ID=2056]

Sl. No.40
QBID:1062015

Radius of gyration of a body about an axis is represented by

@ K- ;:;

3) K=86 %

4) K=3 5;

ot =g 3 a1 & whtwmr e =1 gt s @ -
(1) K= i

(3) K=6 %

(4) K=3 5‘;

1[Option ID=2057]
2[Option ID=2058]
3[Option ID=2059]
4[Option ID=2060]

Sl. No.41
QBID:1062016

Given below are two statements :

Statement [ . The equilibrium equation is defined when ZF = 0.

Statement II . The equilibrium equation is satisfied when ZF = 0.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true

(2) Both Statement I and Statement II are false

(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement Il is true




= 71 e e T E

FoH 1 TTETE WA TIE BT 2 A9 5F < 0

Fo [I:  Sreresd gHie 392 261 2 56 $F = 0

IEE FUA o ATAE H, J9 20 T [Tl § J Hal 39 #9599 i

(1) g
(2) Fa [ =91 11 Ff 3789 8
(3) a1 @ea 2, =it e 11 378 &

(4) o 1 arEea 2, wifer Fom [ Eeg &

1[Option ID=2061]
2[Option ID=2062]
3[Option ID=2063]
4[Option ID=2064]

Sl. No.42
QBID:1062017

Arrange the following alloy in descending order of tensile strength.

(A) Inconel alloy 600
(B) Monel alloy 400
(C) Inconel alloy 625
(D) Nickel 200

(E) Inconel alloy 718

Choose the correct answer from the options given below :

(1) (A). (C), (E), (D), (B)
(2) (D). (&), (C), (B). (E)
(3) (A).(B), (). (D), (E)
4) (O). (E), (4. (B). (D)

Rt T 1 7% o oA % Hed e 1 )
(A)  ZTEAS faguE 600

(B) wHw aEE 400

(C)  =A@iH= Ay 625

(D) Tt 200

(E)  sThH= ey 718

= 15U U TEEeT § W WA 3 S =EE i

(1) (A). (€), (E), (D), (B)
(2) (D) (A). (C). (B), (E)




3) (A (B). (C). (D). (E)

@) (O), (E), (4). (B), (D)

1[Option ID=2065]
2[Option ID=2066]
3[Option ID=2067]
4[Option ID=2068]

Sl. No.43
QBID:1062018

Given below are two statements :

Statement [ . The torque produced by a 40 HP motor at a frequency is 175 ft-lbf.

Statement I :  The torque produced by a 50 HP motor at a speed of 20 rpm is 219 ft-1bf.

In the light of the ahove statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement II is true

di= 7t = o o E

FoA1: Tt wF saeh W w40 HP #i 9% 175 ft.dbf 71 sesmgyt 3o9a Ft 81

F911: 20 rpm T W wH 50 HP #5122 219 fe.Ibf =1 Se1ameyl 3009 0t 21

I FA % A °, A B el § 8w 3w T i
(1) #FEldrliEHiaad

(2) o I 3 11 & s 8

(3) Fu 1 ¥ 2, siff w11 s 2

(4) Fo]amae, e sm Il aa e

1[Option ID=2069]
2[Option ID=2070]
3[Option ID=2071]
4[Option ID=2072]

Sl. No.44
QBID:1062019

Which of the following statement(s) is/(are) incorrect?

(A) Ohm’s law states that voltage varies directly with current.
(B) Kirchoff's laws are useful when studying transmission lines.
(C) Divergence theorem is used to convert line integral to surface integral.

(D) Divergence of curl of a vector is always zero.

Choose the most appropriate answer from the options given below:
(1) (B)and (C) only
(2) (A)and (D) only
(3) None of the above

(4) ATl of the above




frferfiaa # & =9 @/(3) T 78 W2/ (5)F

(A) =W % fagra % sEn fava fama aw & vaee: w1 @ ffa g 2

(B) Tl & Rz d=ru—osd % sremEA o 3wt £

(C)  =T9w WoE o1 IAIT 15 WA I OAE HUR § aiEtaa w0 @ o e a2
(D) Tt fem % #el =1 stew w97 v B B

3 fau o faedt 3 & et I w1 T i
(1) =9 (B) @ (C)

(2) F=a (A) wE (D)

(3) I # & *iE A

(4) IwiFd o

1[Option ID=2073]
2[Option ID=2074]
3[Option ID=2075]
4[Option ID=2076]

Sl. No.45
QBID:1062020
Match List I with List I :
List I List IT
(A) Moment of inertia of a Circular I bh*
sectlon O 12
(B) Moment of inertia of a triangular (I bh’
section about the base a6
(C) Moment of inertia of a triangular 1) bd®
section about an axis passing through ( 3
C.G. and parallel to the base
(D) Moment of inertia of a rectangular V) D"
section about a horizontal axis 81

passing through base

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(IL), (C)-(LIT), (D)-(TV)
(2) (A)-(IV), (B)-(D). (C)-(IT), (D)-(TIT)

(3) (A)-(ID), (B)-(IV), (C)-(1), (D)-(IT)
(4) (A)-(ID), (B)-(ITL), (C)-(IV), (D)-(T)

A1 % Ty ot = fe i
- -1
(A) T s * Feea Iy bh*
(D) i3
(B}W%a’rﬁaﬁt%&ﬁuﬁu@swasa(mﬂ
s 36
(C}ﬁaﬁwﬂa@s%m@iwm%ﬁm(m) bd*
T ST T IR SR wged S 3
(D) % =g @s ¥ FER 4 T At w =
THAA 1 o AR AR A5 A 64

i few o faeedi 6 | WEN 3T 1 =9 ity




(1) (A)-(D), (B)-(IT), (C)-(III), (D)-(IV)
(2) (A)-(IV), (B)-(I), (C)-(IT), (D)-(I1T)

(3) (A)-(IID), B)-(IV). (O)-(D), (D)-(ITy

(4) (A)-(ID), (B)-(IID), (C)(TV), (D)-(T)

1[Option ID=2077]

2[Option ID=2078]

3[Option ID=2079]
4[Option ID=2080]

Sl. No.46
QBID:1062021

Permanent magnets used in instruments are hard core materials because
(1) They have broad hysteresis loop

(2) Their energy density is high

(3) They have a high (BH)uax product

(4) All the above

1§ I EH AT T TR S 951 o Ea] & =i -

i~

(1) =8 =12 R

(2) 1 Sl e sl Ea 2
(3) % (BH),,, urs®e i g 2|
(4) wE@EA|

1[Option ID=2081]
2[Option ID=2082]
3[Option ID=2083]
4[Option ID=2084]

Sl. No.47
QBID:1062022

When the neutral point of a 3-phase system is directly connected to earth (i.e. soil) through a
wire of negligible resistance and reactance, it is called

(1) Effective grounding

(2) Resistance grounding

(3) Reactance grounding

(4) Peterson-coil grounding

N T oF FE ez % e g i v an e wiohy ue gieue sEd #9 E 6 qeA H O gEatha
(1) =9 =73 e 7 E

(2) e sy

(3) e T+

(4) T T

1[Option ID=2085]
2[Option ID=2086]
3[Option ID=2087]
4[Option ID=2088]

Sl. No.48
QBID:1062023




Three resistances r. 2r and 3r are connected in delta. Determine the resistance R_. for an

equivalent star connection in given figure.

C Ry,=3r B
Delta Connection Star Connection
1) 3r
(2) r/2
(3) ri3
4) r

da afa i, 2r @ 3r 3021 8 92 gu e 23 o fad % wegea wen wEee b ufedg R, w1 A P

(1) 3ar
(2) ri2
(3) ri3
4 r

1[Option ID=2089]
2[Option ID=2090]
3[Option ID=2091]
4[Option ID=2092]

Sl. No.49
QBID:1062024

Electronic Voltmeters which use rectifiers employ negative feedback. This 1= done to
(1) Increase the overall gain
(2) overcome non linearity of diodes

(3) 1mprove stability

(4) none of the above

SoFEIHF aiee Hiet 9imes & o Foers EE F 9= F 7, T8 Shien o w
(1) THm e see & fem)

(2) =MEE F ftfgwa & 3w & fom)

(3) i wgH  fer)

(4) Wi H H HE T

1[Option ID=2093]
2[Option ID=2094]
3[Option ID=2095]
4[Option ID=2096]

Sl. No.50




QBID:1062025

The effective resistance of a coil at high frequencies 1s more than its resistance on account of
which of the following?

(1) Skin effects

(2) Eddy current losses

(3) Proximity effects

(4) All the above

I S W TFE Foed F TEE Tied IE Mg  S39F w61 2 6 ° e S W
(1) TEREHE

(2) at gm = e

(3) uH= TwE

(4) i ot

1[Option ID=2097]
2[Option ID=2098]
3[Option ID=2099]
4[Option ID=2100]

Sl. No.51
QBID:1062026

The gauge factor is defined as

" ARIR
ADID
(2) ARIR
ALIL
@) AL/L
ARIR
@4 ARIR
AP/P
st T afraTiia frn < w21
" AR/R
ADID
2 ARIR
AL/ L
AL/L
3
®) RIR
AR/R
4 prp

1[Option ID=2101]
2[Option ID=2102]
3[Option ID=2103]
4[Option ID=2104]

Sl. No.52
QBID:1062027

A B0 u F capacitor is charged to retain 10 m.J of energy by a constant charging current of 1
A. Determine the voltage across the capacitor.

(1) 10V
(2) 2V

(3) 20V




(4)

1V

TE 5O uF % Ffa F 10 mJ B S F: oanm wH F w1 A F B g e @ 9
Fren #1 I Ffae W Sieds @ AE w0 Em e

(1) 1wV
(2 2v
(3) 20V
4 1V

1[Option ID=2105]
2[Option ID=2106]
3[Option ID=2107]
4[Option ID=2108]

Sl. No.53
QBID:1062028

Obtain the value of i in the given circuit if v=1V7?

(1) o05A
(2) —o5A
3) 1A

(4) -1A

fumafme § im AR ET g v =1V ?

(1) 05A
(2) 05A
(3) 1A
(4) -1A

1[Option ID=2109]
2[Option ID=2110]
3[Option ID=2111]
4[Option ID=2112]

> 10
§ (Ry)

10
(R,)

Sl. No.54
QBID:1062029

Johnson noise is :

(1) noise carried into a circuit though conductor

(2) noise of an electromagnetic origin that is radiated into a circuit

(3) shot noise which results from random emission of electrons across a p-n junction




caused by thermal agitation of free electrons carrying current thereby modulating the
current

(4)
A E R -
(1) I & e g o T i 2

(2) ga gk wia i @ o o § fresfia @

(3) .. S W e & AfTed Ious # 3o 1ene 1@ (Yederee) |

(4) Torem a0 & 99 It g9 seag & i vET ¥ 30 B @ fea am = Pam e g

1[Option ID=2113]
2[Option ID=2114]
3[Option ID=2115]
4[Option ID=2116]

Sl. No.55
QBID:1062030

When the value of L of arc suppression coil is such that the fault current [, exactly balances
the capacitive current [_. it is called

(1) Solid grounding
(2) Resistance grounding

(3) Resonant grounding

(4) Reactance grounding

5 37 guifed Fecft 1 AE L myan g R dmam 1, aifer a1 faege gafem s 2, 78 Feemm

(1) 3| qETHS

(2) wfadty g
(3) A ETE
(4) wferz s

1[Option ID=2117]
2[Option ID=2118]
3[Option ID=2119]
4[Option ID=2120]

Sl. No.56
QBID:1062031

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Due to increase in supply main voltage, which usually occurs during low
load periods, such as lunch hours, night hours ete. the magnetizing current
of induetive reactances increases and the power factor of electrical plant as
a whole comes down.

Reason (R) : If P and V are constant, the load current [, is inversely proportional to

power factor, cos¢gie. lower the power factor, higher the current and

vice-versa.
In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A) is true but (R) is false
(4) (A)is false but (R) is true




7

4= 91 #°H 128 U # ;. uF Af9HeE (Assertion (A)) % &9 ¥ e # Al e 0% 0 (Reason (R))

HATF (A) : e e 1 Y S % HEO, S i uE: e 9w sEtase # SrE w2 oo
TEATE WIS 31 T & 92 3oA15| TR0 Tiard = S6 9n sl 2 $1 JEd 59
1 WIfh 7Ok 991 &9 § At 2

F7 (R) SR p AN v THEI FE A, S YW I, W TF s ¢ SHAHHAMEIE BT B

1 T Tk T F T BH W 9w I=9 wF o1 UE A 56 A gt | w5

I HEA F AEF °H, i 58 T EEed 8 8 5El I #1059 $iA

(1) (&) = (R) 31 a1 § 3 (R), (A) i ot e @

(2) (&) 3 (R) 31 wea &, S (R), (A) 1 ol =ren 4@ 2
(3) (A FAR, o R) s 2

(4) (A) 82, I (R) 8 2

1[Option ID=2121]

2[Option ID=2122]

3[Option ID=2123]
4[Option ID=2124]

Sl. No.57
QBID:1062032

Given below are two statements : One 1z labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A): A single-phase induction motor always rotates in a clock-wize direction.
Reason (R) : The direction of a single-phase induction motor can be reversed by

interchanging the connection of either the starting winding or the running

winding.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both (A) and (R) are true and (R) is the correct explanation of (4)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) is false

(4) (A)is false but (R) is true

Fr= =1 2 fom 7w 2 ;v AEeE (Assertion (A)) F =9 1 fAfEd 2 & 5o0 35F TR0 (Reason (R)

;L'F?':-_-‘ilff:
AMTF (A) = Toret w| Ui A w6 =g Fi foon | goi e 2
F (R) : IAfe AT AT A =lerd AR F FAFHE Fl 99 79 J0 Al O G w5y Ui

IO FU F A §, 94 50 T [TEed § ¥ 58 39 % 999 #ien




(1) (a) str (R) 3T T € oi (R), (A) F ot = B

(2) (&) 3 (R) S T £, S (R), (A) i ot =Fmen 78 @
(3) (&) T2, dfFa (R) e 2

(4) (A) =@ g, ofF (R) 53 &

1[Option ID=2125]

2[Option ID=2126]

3[Option ID=2127]
4[Option ID=2128]

Sl. No.58
QBID:1062033

Arrange the conductors in the decreasing order of their melting point (°C).
(A) Copper

(B) Iron

(C) Gold

(D) Tungsten

(E) Aluminium

Choose the correct answer from the options given below :
(1) (D), (E), (B), (C), (A)
(2) (C). (E), (A), (B), (D)
(3) (B), (C), (E), (D), (A)
(4) (D), (B), (A), (C), (E)
HTeTe (FEeet) Fl 37 e (°C) o TTEW T Sate F6 § S|

&

(A e

(B) @

(C) =

(D) A

(B) e

et fau o e | & ot 3 o = i

(1) (D), (E). (B). (C), (&)
(2) (O). (E), (A), (B), (D)
(3) (B)(C), (E). (D). (&)
(4) (D), (B), (A), (C). (E)

1[Option ID=2129]
2[Option ID=2130]
3[Option ID=2131]
4[Option ID=2132]

Sl. No.59
QBID:1062034




Arrange the steps in sequence to solve the Network using maximum power transfer theorem.
(A) Caleuluate the Thevenin's voltage

2
_Va

B =
® Pu-g

() Calculate the Thevenin's resistance
(D) Remove load resistance

(E) R iz equal to load resistance for maximum power transfer

Choose the correct answer from the options given below :
(1) (4, (0). (D), (E). (B)
(2) (D), (E), (). (A), (B)
(3) (B), (E). (4).(C), D)

(4) (D), (C), (E), (A), (B)
TfFTEn i T 9T 1 I FOF 29 F 5 WA F [0 U6l F el %0 § )

{A‘] TN r‘; 3 {\.—-. . _,ﬁ[

=

Vi

iR,

(B) Bl

(C) =&\ wfaay =i T
(D) s IEOY A

(E)  Hfoqwm Wif Z@s & o0 B, &WR 26T @1 iaad &

4= f5v U faeai § H w3 o =99 S

(1) (A (), (D), (E), (B)
(2) (D). (E). (C). (A), (B)

3)  (B),(E), (4). (C), M

(4) (D), (C), (E), (A), (B)

1[Option ID=2133]
2[Option ID=2134]
3[Option ID=2135]
4[Option ID=2136]

Sl. No.60
QBID:1062035

Given below are two statements :

Statement [ : When a synchronous motor is over excited it behaves like condenser.

Statement [T : With the increase in load on the synchronous motor its speed decreases.

In the light of the ahove statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true




(2) Both Statement I and Statement II are false

(3) Statement I is true but Statement II is false

(4) Statement I is false but Statement II is true

=t &1 o ey o B -

FUTL: o U godentor At sfa aefem St 8, o ar e (dunfe) & S seen a2

FYA[1:  gedehiferd G120 T wie M W 3wt mie o2 st &)

I A * e A, A fw e et # | wd 3w 9w Aife
1) Flzriddiaai

(2) a1 =i 11 2Fi sma 2

(3) Fuld g, df wem [l s/Ea 2

(4) FH¥Ea?, dfF s o

1[Option ID=2137]
2[Option ID=2138]
3[Option ID=2139]
4[Option ID=2140]

Sl. No.61
QBID:1062036

Given helow are two statements :
Statement [ : A single-phase reluctance motor is not self-starting, even if paths for
eddy currents are provided in the motor.
Statement [ : A single-phase hysteresis motor is self starting.
In the light of the above statements, choose the most appropriate answer from the options
given below :
(1) Both Statement I and Statement II are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement Il is incorrect

(4) Statement I is incorrect but Statement II is correct

EIE AR B k)

T I:  UF TOe O UiEeY Wie = und T8 2 7, 90 Hie § Y9t 96 9difed Fi S a9 9l

w11 : U et S fEeeiiom gier = yrdl 2l )

IHE FUA F AE °, A 50 T Fwenl 9 ° ged SUEE S A=A e

(1) F a1 9 ot &
(2) e I 3R 11 3 rera &
(3) FMAIFEE, TR T
(4) Fu [ 7o B, AfF e L wdt @




1[Option ID=2141]
2[Option ID=2142]
3[Option ID=2143]
4[Option ID=2144]

Sl. No.62
QBID:1062037

Indicate the time-invariant systems from the given below options:

dy (£)
(A) e S
dt
diy(t) dylt)
(B) B +2y(t)=uvlz)
dt dt
diy(t) _dylt)
(C) yﬂ +5 ) +6y(tl=wit)
dt = dt
diylt)  tdy (¢
(D) it L iRy 2
dt ~
d’y(t) 10dy (1) ;
(E) t }q -+ - +2ylt)= ylz)

dt = dt
Choose the correct answer from the options given below :
(1) (A)only
(2) (B)and (C) only
(3) (A)and (C) only
(4) (D) and (E) only

Z1E8 T foeE i FetanEs 5§ w6 /9 G g 27

dy ()
(A) ? +oylt)=ult)
dt
diylt ' (£ )
(B) £ J" I—ﬂ.ﬁr—\+2_1_-'|£|=|:,'I|fl
dt ~ di
. dyit) 't
(C) :': +5d‘! I.—Syltl=wltl
P
diyle) ey (2
(D) ;E—M—-l)'\'fl:xltl
dt ~
; diylt) 10dw (¢
B P2 MR k)= 6]
de - dt
Hi= fov o famweai 4 9 wE 3 # ==d Fiia
(1) Fae (A)

(2) Fae (B) 3 ()
(3) Faa (A) 3 (C)
(4) Fae (D) i (E)

1[Option ID=2145]
2[Option ID=2146]




3[Option ID=2147]
4[Option ID=2148]

Sl. No.63
QBID:1062038

Choose the appropriate auxilliary components of HVDC transmission system from the
tfollowing.

{A) D.C. line inductor

(B) A.C. line inductor

() Reactive power source

(D) Distance relays on D.C. line

(E) Series capacitance on A.C. line

Choose e correct anewer figm K opliony giver below :
(1) (A) and (B) only

(2) (C)only

(3) (D) and (E) only

(4) (C)and (D) only

Tou U HEEE S § 5 HVDC 2iEEy e o0 3ugw 99 #1 3|
A) S o s

(B) ©Hl = ssF

(C)  TmofFea wiaw =ia

(D)  FH. = W s =

(E) udi == W 2oft arfa

i Tou e faweai § H HE I =99 Hian

(1) Fae(A) 3 (B)

) Faa (0
(3) #FHae ()

(4) #Fa (C) 3 (D)

1[Option ID=2149]
2[Option ID=2150]
3[Option ID=2151]
4[Option ID=2152]

Sl. No.64
QBID:1062039




Match List I with List IT :

List I
(A) TUniversal motor
(B) Permanent magnet type
(C) Shaded pole
(D) Capacitor-shunt capacitor run

Induction motor

List IT

(I) Photo copying machine
(IT) Rocket
(IIT) Sewing machine

(IV)

refrigerator compressor

Choose the correct answer from the options given below :

(1) (A)-(IID), (B)-(ID), (C)-(L), (D)-(IV)
(2) (A)-(IV). (B)-(D), (C)-(11), (D)-(111)
(3)  (A)-(I). (B)-(II), (C)-(I1I), (D)-(IV)
(4) (A)-(I1D), (B)-(1), (C)(ID), (D)-(IV)

1-1 % 1 gei-I1 1 (5 =it

THl-1 TI-II
(A)  FHAEEe 7 (S99 9w Hiew) (D) el F
(B) TUTE T=F F TFEN (I) 7%z
(C) vifss 9= (w1fa g4) (ITI) To=e moi
(D) FUMEZT 72, FUHER T 59 HiH (IV) e FEa
4= fou o faweai 4 9 wE I #1994 Fiiaw
(1) (A)-(IID), (B)-(IL), (C)-(I), (D)-(IV)
(2) (A)-(IV), (B)-(I), (C)-(IT), (D)-(I1IT)
(3) (A)(T), (B)-(IT), (C)-(I1T), (D)-(TV)
(4) (A)-(IID), (B)~(I), (C)-(II), (D)-(IV)
1[Option ID=2153]
2[Option ID=2154]
3[Option ID=2155]
4[Option ID=2156]
Sl. No.65
QBID:1062040
Match List T with List IT :
List I List II
Components Function
{A) Flapper valve (I) Actuator
(B) Serve motor (ITy Error detector
(C) Amplidyne (ITT) Transducer
(D) Potentiometer (IV) Power Amplhifier

Choose the correct answer from the options given below :

(1) (A)(IID, (B)-(D), (C)-(IV), (D)-(IT)
(2) (A)-(D), (B)-(IV), (C)-(ID), (D)-(11T)




(3) (A)-(IV). (B)-(D), (C)-(11), (D)-(111)
(4) (A)-(IID), (B)-(IV), (C)-(T), (D)-(IT)

11 % W1 g1 1 e it

-1

(A) FIE T
(B) @&l HI=T
(C) uffeters

(D) et i

4= oo o faweTt § 9 T I W =99y i

(1) (A)(ILD), (B)-(Iy, (C)-(IV), (D)-(IT)
(2) (A)-(D), (B)-(IV). (C)-(11), (D)-(11T)

(3)  (A)(IV), (B)-(I). (C)-(IT), (I-(I1L)
(4) (A1), (B)-(IV), (C)-(D), (D)-(1T)
1[Option ID=2157]

2[Option ID=2158]

3[Option ID=2159]
4[Option ID=2160]

ko

(I) waa=

(I)  Afz FATsT=+
() ST
(IV) =i Ta9=+

Sl. No.66
QBID:1062041

Determine power efficiency 5 of the AM wave for tone modulation when modulation indice

(1) is 0.5.
(1) 12%
(2) 15%
(3) 11.11%
(4) 20%

T TG AT () 0.5 21, @ 2 Aged * o AM (u.um. ) 7in = wifes gaan 5 Fefen -

(1) 12%
(2) 15%
(3) 11.11%
(4) 20%

1[Option ID=2161]
2[Option ID=2162]
3[Option ID=2163]
4[Option ID=2164]

Sl. No.67
QBID:1062042

The circuit shown in Fig. is known as

(1) Full wave rectifier




2 Half wave rectifier

(3) Cliper circuit

(4) Voltage regulator

(1) NOT gate
(2) OR gate
(3) NAND gate

(4) AND gate

form o zwife 3 wftgy =i e S 2 -
+ -

+ M +

v R § v,
(1) uof oo fawarrdt
(2) 79 T TeEw
(3) fFam (Fefr) ufimy
(4) e fre
1[Option ID=2165]
2[Option ID=2166]
3[Option ID=2167]
4[Option ID=2168]
Sl. No.68
QBID:1062043

Circuit shown in figure is a
5V
]
R, Q
A AN 1
10KQ ™y
Ry ?
B AMAN Qs
1MMKQ
o C=?
33KQ




ferm o =wrian oy 2

A A

(1) NOT=
(2) ORTE
(3) NANDZ

(4) ANDTR

1[Option ID=2169]
2[Option ID=2170]
3[Option ID=2171]
4[Option ID=2172]

Sl. No.69
QBID:1062044

Calculate the regulated output voltage in the circuit given below :

Q

)

vV

§ 30KQ

6.2V

(1) 2.48V
(2) 248V
(3) 248KV
(4) 248V

=91 e qhy 0, e T T T o -

g 10 KQ

T

v

§ KO

62V

(1) 248V

g 10KQ

T




(2) 948V
(3) 248KV
(4) 248V

1[Option ID=2173]
2[Option ID=2174]
3[Option ID=2175]
4[Option ID=2176]

Sl. No.70
QBID:1062045

As per Nyquist rate for highest frequency B: which of the following equation is correct

Ferem st B % fore amgfire <% foo oad @ v o ofiseo ot 27

oy

) =35
(2) f=2B
1

3 O —
3) ffB
1

@ =15

1[Option ID=2177]
2[Option ID=2178]
3[Option ID=2179]
4[Option ID=2180]

Sl. No.71
QBID:1062046

A signal mit)=50sinc” (5000 7 f) frequency modulates a carrier. The modulation sensitivity

constant K, is 3000 7. Calculate the transmission bandwidth of the modulated signal.

(1) 810 KH=z
(2) 160 KHz
(3) 18 KHz
(4) 81 KH=z

~

e e

UF FHIE mt)= 50 sin ¢* (5000 = f) UF AEFH F AN ASIeH FAl 2| TSI T
(et 3T9R) K, = 3000 ~ 2| Wigeies fOmer il T s F Jisk F1 94 79 F1

(1) 810 KHz

(2) 160KH=z

(3) 18KH=z

(4) 81 KH=z
1[Option ID=2181]
2[Option ID=2182]

3[Option ID=2183]
4[Option ID=2184]




Sl. No.72
QBID:1062047

If the medium of propagation allows the wave to attain only 60% of the velocity of light, at
what distance will the induction and radiation field will have the same magnitude at

f=3GHz?

(1) 0.955 em

(2) 9.55em

(3) 95.5em

(4) 955 em
A% U F W1 UF qOT TR F A H 60% E el 1 swgafa wwm w2, @ e g mdma
fafirom & =1 wH s S SE £ = 3GHz 817

(1) 0.955cm

(2) 9.55cm

(3) 95.5cm

(4) 955 cm

1[Option ID=2185]
2[Option ID=2186]
3[Option ID=2187]
4[Option ID=2188]

Sl. No.73
QBID:1062048

The wvalue of voltage gain of ideal op-amp is

1) Zapo

(2) One
(3) Infinite

(4) Hundred
UF EE A UAY F Aleed o AN B

1) =
(2)

(3) A

(4) THH
1[Option ID=2189]
2[Option ID=2190]

3[Option ID=2191]
4[Option ID=2192]

Sl. No.74
QBID:1062049

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (A) 1 A multiplexer is known as universal building block in digital electronics.
Reason (R) : Any circuit can be implemented by using a multiplexer.

In the light of the above statements, choose the most appropriate answer from the options

given below :
(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correet but (R) is NOT the correct explanation of (A)




3) (A) is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

12 3 Fo e mu  : v sfiwmad (Assertion (A)) % %9 # fofiaa 2 6t 390 359% F01 (Reason (R)) %7
i

wfiEReA (A) - wF Heererat i fefvee o § gftadw fafeen soms S s d s s 21

%A (R) | Hedteeiaay o et «ft afhe =t amma s gewar 2

ST Y % et |, 9w o feredt A & gl s ot = i
(1) (A) 3 (R) 3 FE E 3 (R), (A) it wdt samen @

(2) (A) 3 (R) 2 8 ¥, Sf (R), (A) i o smem i &

(3) (M) FARE, & (R) T T 2

(4) Q)@@ AR Ed

1[Option ID=2193]
2[Option ID=2194]
3[Option ID=2195]
4[Option ID=2196]

Sl. No.75
QBID:1062050

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.

Assertion (A):  Slew rate of an Op-Amp is infinite.

Reason (R) : So that output voltage changes may not occur simultaneously with input

voltage changes.
In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)
(3) (A)is true but (R) 1s false
(4) (A)is false but (R) is true
= 21 Fom fiw o £ ;v afimem [Asseﬂian{A})%Wﬁ%‘f@ﬁ%?ﬁ?{ﬁﬂEﬂfﬁm (Reason (R))

FEITH

iR (A) S {9 T (Op-Amp) F71 g7 90 2 39 & 2

F (R) ; Toas f4ia diced, AUH dived = "99ed & WY T2 T5 ThaT 2

I I F A H, = Hu e e § 8w 39 =9 ity

(1) (A) 3t (R) ST @ea € @i (R), (A) it ot sgren @
(2) (A) 3R (R) & @ea 2, afF (R), (A) F adt s 78 2

3) (A TR & (R s@a s
4)




(A) e, R (R T

1[Option ID=2197]
2[Option ID=2198]
3[Option ID=2199]
4[Option ID=2200]

Sl. No.76
QBID:1062051

Arrange the required number of flip-flop in ascending order

(A) 7 bit — ripple counter
(By Mod-9

(C) Divide — 22

(I Three-bit shift register

(E) Mod -3

Choose the correct answer from the options given below :
(1) A)=<(B)=<(C)<([D)=<(E)

(2) (E)y<(D)<(C)=<(B)=<(A)

B) E)<@W<(C)<B) <D
(4) AW=<O)=<B)<D)=(E)

TreTa—emy i TEAe F STETEEal & SHEE dgd H4 9 S|
Q) 7 fwe-Tuw e

(B) TE-9

() feams-22

(D)  3-To= e Temen

(E) His-3
4= fou U fawen 9 | wE 3w 9 At

(1) W) =<(B)=(C)=<(D)=<(E)
(2) E)<D=<(C)=<B <)
3) E)<A)<C={B) <D

(4) W=<O)=<B)<D)=<(E)

1[Option ID=2201]
2[Option ID=2202]
3[Option ID=2203]
4[Option ID=2204]

Sl. No.77
QBID:1062052




Given below are two statements :

Statement [ :  Transistor can be used as a switch in logic gates.

Statement I1 :  Transistor is a passive device.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both Statement I and Statement II are true
(2) Both Statement [ and Statement II are false

(3) Statement I is true but Statement I is false

(4) Statement [ is false but Statement II is true

= 21 %o fgw T E

FoA 1: 1A 728 8 Ztwe # fEm F w0 8w e w2

Fud I1:  2iiseet U Hishd 3 2|

SUUE YA o AT °, 49 58 T fEwel § O w9 36 61 =9a i

1) wElsrnIlsHiam
(2) w131 EHi s B
(3) FoA 1 g &, Sfi = 1 s 2

(4) Fu]smea e, v I o e

1[Option ID=2205]
2[Option ID=2206]
3[Option ID=2207]
4[Option ID=2208]

Sl. No.78
QBID:1062053

Given below are two statements :

For cutoft-region operation of Transistor.

Statement [ :  Base — emitter junction will be reverse-biased.
Statement 11 :  Base — collector junction will be forward biased.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct
(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement II is correet




= 71 Fom Tgu e E

FoA [: " swed |y fEa = w5

o I1: o Feidel 9ig =S 9rEE w5
I FUE F A °, A= 50 e 8 8 e I I F =99E Han

(1) w13l S adt &
(2) = 1 =30 11 &1 Tera &
3) FHAIGd e, AR e 8

(4) Fu [ Terd B, A w1 gd B

1[Option ID=2209]
2[Option ID=2210]
3[Option ID=2211]
4[Option ID=2212]

Sl. No.79
QBID:1062054

Maxwell's Equations for time varying fields.

(A) T T
ot
(B) wﬁ:.h@
ot
(C) V-D=p,
D V-B=0

(B) [H-dL=I

Choose the correct answer from the options given below:
(1) (A) and (B) only

(2) (B)and (C) only

(3) (C)and (D) only

(4) (A). (B), (C) and (D) only

oW ufEd] &3 % oo daeae G & -
(A) )
ot
(B) Vx§:!?+£
ot
(© V-D=p,
D Vv-B=0

(B) [H-dL=1
ﬁﬁnwﬁﬂmﬁﬁﬁ@wmaﬁﬁq:
(1) FA (A) 3 (B)
(2) =€ (B) 3 (C)

(3) Fad () 3 (D)




(4) Faa (), (B), (C) 3 (D)

1[Option ID=2213]
2[Option ID=2214]
3[Option ID=2215]
4[Option ID=2216]

Sl. No.80
QBID:1062055

Match List [ with List IT :

List I

(A) VSB

(B FM Broadcast
(C) Uplink/Downlink
(D)  AM Broadecast

List 11

(I}  Satellite communication
(IIy TV Broadcast
(III) Space wave propagation

(IV) Ground wave propagation

Choose the correct answer from the options given below :

(1) (A)-(D), (B)-(IV), (C)-(11), (D)-(I1D)

(2) (A)-(I1), (B)-(IID), (C)-(1). (D)-(IV)
(3)  (A)-(D). (B)-(ID), (C)-(ILL), (D)-(IV)
(4) (A)-(0V), (B)-(11), (C)-0), D)-(I)

-1 % @ =11 =1 foer Fifee

=1
(A) o,
(B) TUF.UH, THEW
(C) = Torr /s forh

(D) ©.UH, 9OE

THI-IT
(I) %= 791
(IT) Zr.=f. gEmo
(IIT) AT=FToT T F=o

(IV) 4.701 5=

4= fou U T § | H@E I 9 i

(1)
(2)
(3)

(A)-(D), (B)-(IV), (C)-(ID), (D)-(I1I)
(A)-(ID), (B)-(I1I), (C)-(I), (D)-(IV)
(A)-(D), (B)-(1T), (C)-(I1T), (D)-(IV)

(4) (A)-IV), (B)-(IID), (C)-(1), (D)-(IT)

1[Option ID=2217]
2[Option ID=2218]
3[Option ID=2219]
4[Option ID=2220]

Sl. No.81
QBID:1062056




A hydrogen oxygen fuel cell in which the following reactions occur :

At the anode : H,—2H +2¢
At the cathode : 2 + %O: +H0 - 20H

Operates at 25°C. Calcuate the voltage output of the cell.
Take
AH,, =—68317 Keal/kg mole.

Al

ey = —DBGI0 Keal/kg mole.
(1) 0.123 Volt

(2) 1.23Volt

(3) 12.3 Volt

(4) 123 Volt

U EESIe AT 299 do Toed fefarfaa sifalsean 2 2
UAIE T - H, — 2H =+ 2¢

= - 1
FYE W - 2 +—0.+ HO — 20H
3 o "

T F Aleed HiHeqe e, 59 7 25 °c W FH F=Ha 2

T H
AH, , =—-68317 Kecal/kg mole.
AG.,, =—56690 Kcal/kg mole.
(1) 0.12339=
(2) 12342
(3) 1237w
(4) 1239w

1[Option ID=2221]
2[Option ID=2222]
3[Option ID=2223]
4[Option ID=2224]

Sl. No.82
QBID:1062057

The limitation of Tidel power generation are
(1) Tidel power generation is free from pollution

(2) These power plants do not demand large area of valuable land

(3) Cost is not favourable compared to the other sources of energy

Peak power demand can effectively met when it works in combination with thermal or
hydroelectric system

(4)

sorirr Sreft Seares B o & -
(1) A ot Seare wew e B




) az st T e #m A geaaE g i w T w

(4) FoIam et win it e & qu frm s o 8, 9 98 am v e frega @ % | fem sm)
1[Option ID=2225]

2[Option ID=2226]

3[Option ID=2227]
4[Option ID=2228]

Sl. No.83
QBID:1062058

Given below are two statements :

Statement I :  In batch processes, material i1s transferred in to or out of the system-

over the period of time of interest.

Statement IT . Process variables (I.P.V. Flow rate) change with time.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement I are true

(2) Both Statement [ and Statement II are false

(3) Statement [ is true but Statement II is false

(4) Statement [ is false but Statement II is true

i 51 A ffe T E

FyFL: T TEY e T § S A7 A SEERE 7 # e F eEg | g

FA I1:  wd = (7,9 41, 71 ) (LP.V. Fow rate) ¥ & ¥4 soerd 7|

IO FUA F A, A9 G T GEe 9§ 5 39 H 95 Firs

(1) FFlsRIIEHiga

(2) wuA [ &R 11 2H1 a9 &
(3) =uH 1T, A w9 1 3o 2
(4) wrlasEae, df s g e

1[Option ID=2229]
2[Option ID=2230]
3[Option ID=2231]
4[Option ID=2232]

Sl. No.84
QBID:1062059




For transient process that begins with time = {, and ends at a later time {; the general

integral material balance equation is

(A) m_+m, = :immdt - Ij'm_mdr - ]LR(:E.E

I
f

fr

(B) m,.m, = Im di + jm di — det

I
]

i

) fn

(C) m _Im, = :immdi' + ]L.rnwdt - ]:Rdt

D  2m-m = Ilj;'”-'ndt 22 ]‘m"“"dt # ;T oA

'III

Iy iy

(E) m,_-m, = ]mmdt - ];mmdr + IRdf

Choose the correct answer from the options given below:

(1) (A) and (B) only
(2) (C) and (D) only
(3) (E)only

(4) (B)and (D) only

Al fohal S T9A ¢, § ANFH 21 H a1 & TRF ¢, T THMHE 2l 21, & 0 aEe vhigd 1ad dgfe

A m,4m,
(B) m, —m,
€ m, Im,

(D) 2m, - m,

i

[
v

o

|

|.
*

n

i

' 1

m dt - J m_dt + j'Rdt
] fo
fr i

m dt + J’mlmdc - JRdt
i ig
tr ke

[mmdf + J'm.m.dt + [Rdt

fo

f i ki)
Immdt - j'mwld't +5J’Rdt

' i g

(E) m —mo—‘[m dt—j'm dt+|Rdc

i

ﬁﬁﬁnmﬁwnnﬁwﬁwww@ﬁv

(1) e (A) 3 (B)
(2) F&9 (C) 3 (D)
(3) Fa4 (E)

(4) Faa (B) 3t (D)

1[Option ID=2233]
2[Option ID=2234]
3[Option ID=2235]
4[Option ID=2236]

Sl. No.85
QBID:1062060




Mateh List I with List I :

List I List 11

Compound Formula
(A) 1-Nitropropane I CH.0O,
(B) Oleic acid (I)y C,H,0O
(C) 1-Hexanol (IImy C.H,
(D) 1-Pentene (IV) CH.NO,

Choose the correct answer from the options given below :
(1) (A)-(IV), (B)-(D), (C)-(11), (D)-(IIT)
(2) (A)-(ID), (B)-(IID), (C)-(IV), (D)-(T)
(3)  (A)-(IID, (B)-(ID), (C)-(1), (D)-(IV)

(4) (A)-(I1ID, (B)-(IV), (C)-(I), (D)-(1L)

TAT-1 % A g-11 1 faem $ifsu

oHi-I

It
(A)  1-ATEZIETH
(B) HAIfesk =3

(C) 1-e39HEA

(D) 1-94dH

1 feu U ATt § 0 TE 3 @ =9 Fi

(1) (AIV), (B)-(D), (C)-(1), (D)-(1T)
(2) (A)-(ID), (B)-(IID), (C)-(IV), (D)-(D)
(3) (A)-(III), (B)-(II), (C)-(I), (D)-(IV)
(4) (A)-(I1D), (B)-(IV). (C)-(I), (D)-(IT)

1[Option ID=2237]
2[Option ID=2238]
3[Option ID=2239]
4[Option ID=2240]

O EH D
) cH.O
) c.H,

(IV) C.H_NO,
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Imagine a Carnot engine that operates between the temperature

The engine performs 1200 J of work each cyele, which takes 0.25
this engine?

(1) 25%
(2) 50%

(3) 65%

T, =850 K and T, =300 K.

H

5. What is the efficiency of




(4) 90%

A foAfSe 0F #12 S5 A1 T, =850 & U1 T, = 300 . % A99H % 554 HANGd w1 21 39 & UH
ST (T3) F FW FH W 1200 J F A0 0.25 ¢ T A 2| 36 39 o a4 A

(1) 259%
(2) 50%
(3) 65%
(4) 90%
1[Option ID=2241]
2[Option ID=2242]

3[Option ID=2243]
4[Option ID=2244]
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For special case of first law of thermodynamics ie. for constant-volume process, the
conditions are

(1) Q:O‘ 'ﬁEmt =_W
(2) W=0,AE_=Q
(3) AE_ =0,Q=W

4) @=W=AE_ =0

nt

foeTae: HTSEAMF % U9H g * AWe § A9 S AEE U % (o eteied 5 85 we w6
fearfa 27

(1) @=0, AE  =-W

nt

(2) w=0,AE_ =@
(3) AE_ =0,Q=W

4) @=W=AE_ =0

mt

1[Option ID=2245]
2[Option ID=2246]
3[Option ID=2247]
4[Option ID=2248]
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The time at which both radio active nuclei (V) and decay rate (R) have been reduced to ¢ of
their initial values is known as

(1) Half life
(2) Full life

(3) Mean life
(4) Third-Fourth life

T HH9 THE W =" "eg iy (N) 31 @9 o1 (R) 8 e 9 TRESE OH " . Bl AT 2, 3° #

(1) sy
2 im
(3) ms3am

(4) o <horré st




1[Option ID=2249]
2[Option ID=2250]
3[Option ID=2251]
4[Option ID=2252]
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Force F = (Sx"'N}' +(4 N}j with x in meters, act on a particle, changing only the kinetic energy
of the particle. How much work is done on the particle as it moves from coordinates (2 m, 3 m)
to (3 m, 0 m)?

(1) 704
(2) 7104

(3) 07J
(4) 007

TA F - (32°N )i« (4N ), x A1 #, TF &9 T o1 & 79 &9 F Faa TG S § TiEad 2@ 2|

e (2 m, 3m) ¥ (3m, 0 m) 95 F91 & =i+ T Tohad1 &/ fopar mn?

(1) 709,
(2) 709,
(3) 0.7%,
(4 0073

1[Option ID=2253]
2[Option ID=2254]
3[Option ID=2255]
4[Option ID=2256]
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A playful astronaut releases a ball of mass m = 7.20 kg into circular orbit about earth at an
altitude » of 350 km. What is the mechanical energy E of the ball in its orbit?

(1) —200MJ

(2) —214MJ

(3) +214 M.J

(4) +200 M.J

UF FANEAAE m = 7.20 THA. AW Al OF T2 F gt F wwa goF wa 0 350 TEAL F SR W

WISAl 2| & | g = FCER F91 =0 JE FA1 5

(1) _200MJ
(2) 214 MJ
(3) +214 MJ
(4) +200 MJ
1[Option ID=2257]
2[Option ID=2258]

3[Option ID=2259]
4[Option ID=2260]
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Given below are two statements : One is labelled as Assertion (A) and the other is lahelled as

Reason (R).

Assertion (A) :  In an elastic collision, the kinetic energy of each colliding body may change

but the kinetic energy of the system does change.

Reason (R) : Total kinetic energy before the collision = total kinetic energy after the

collision.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)

(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (A)
(3) (A)is correct but (R) is not correct

(4) (A)is not correct but (R) is correct

H= 21 woA T 2 ;v st {Assertion (A)) * =9 1 fArEd 2 TEHT 3 % FA0 (Reason (R))

FETY
(fwen) i nifas == a1 seerdl o 2l
F (R) : F TMas Tl B2 B Teed = FA Maw FoAl TEA F a6

IWIF FYA F WA |, 9 50 T fawe § 8 weE g ST 0 =9 Hian
(1) (A) st (R) ST &t & sfle (R), (A) 6w e 2

(2) (W) R 2 = E, S R), (A) Frad =menad R

(3) (&) e, d@fF R) TR

(4) (A) F& e, A (R) w2

1[Option ID=2261]
2[Option ID=2262]
3[Option ID=2263]
4[Option ID=2264]
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The characteristics of mechanical waves:

(A) Mechanical waves includes water wave. sound waves and selsmic waves.

(B) Mechanical waves are not governed by Newton's Law.

(9} Mechanical waves can exist only within a material medium.

(D) Mechanical waves can further subdivide into transverse and longitudinal waves.

(E) Mechanical waves are also associated with electrons, protons and other fundamental

particles.

Choose the correct answer from the options given below :




(1) (A), (B), (C), (D), (E)
(2) (A). (C), (D), (E)
(3) (M) (C), (D)

(4) (A)L(E)
(A)  =ICF 900 § Sl 990, SEAl 90 UE SHiEE a0 anEe 2
(B) AT 901 =24 % 99 F1 weH T |

(C) =i 901 o« 751 meag § F 2l 2

(D)  TCEF F0T B ZREaE T (ST 90) 991 Saed @ 3 i e 2

(E) =0 901 399, T2H 921 379 Gefqd $1 o Ty Tt 2

4= T5u U fasmeai § H HE 3 =9 i

(1) (A), (B), (C), (D), (E)
(2) (A)(C), (D), (E)
(3) (AL (C), (D

(4) (A, (B)

1[Option ID=2265]
2[Option ID=2266]
3[Option ID=2267]
4[Option ID=2268]
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Given below are two statements :

Newton's law states that

Statement [ : If there is no net force on a body, the body remains in motion in circular

line at a variable speed.

Statement [1 : The net force f‘m on a body with mass m is related to the body's

acceleration a by F_ =ma.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement [ and Statement Il are correct
(2) Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect

(4) Statement I is incorrect but Statement I1 is correet




A 2 o fag Mo E

= * Tam = #

FaA 1. Al Rt o W 0 w9 1 o6, T 9 O g | aiEdt ae | i e
# [1: el 90 m =Tl a5 W, Fol 5 F,, % @ 9% & ol a 9 F, =ma gl
IR FEA o e A, A e et § @ e 39 Iu 0 e il

(1) FA I a8

(2) FuA 1 i 113 Tem

(3) FHAIgd e, dfFFeE [ Ted &

(4) o 1 etel &, offer = 11 ot &

1[Option ID=2269]
2[Option ID=2270]
3[Option ID=2271]
4[Option ID=2272]
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Which of the following statement(s) 1s/are correct?
(A) Matter waves are described by Maxwell's equation.

(B) Light waves are dezcribed by Schrodinger Equation.

(C) De Broglie's wavelength is given by 4 = et
P

(D) Helsenberg's uncertainty principle states that measured values are assigned to

(E)

position r and momentum P of a particle simultaneously with unlimited precision.

According to classical Physics. an incident particle will be reflected from a potential
energy barrier whose height is lesser than the particle’'s kinetic energy.

Choose the correct answer from the options given below:

(1) (A)only
(2) (C)only
(3) (A)and (B) only

(4) (D) and (E)only

frferfiaa & & =9 =1/ () %o wd 2/(8)7

(A)  HeFEEe T geg aT 9ue St gl
(B)  HifS=T GHTRT SoI9 @ v H gl

(©  A-sieht ain 2ed a:% Fra g

(D)  woE ST fagam wam & fF e swfifie afegm % @y getas 3o % o ey

7 oau e P o e wE A

(B) Tormwmm «ifefl & siqam o smafan w1 R afam s s, e 398 =0 = 1fs =

& %9 8, 399 waEida g
fi=r T fesedi @ & Wl I T A
(1) Fae (A)
(2) Fae(C)
(3) %= (A) 3 (B)
(4)




ad (D) #1 (B)

1[Option ID=2273]
2[Option ID=2274]
3[Option ID=2275]
4[Option ID=2276]
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Match List I with List IT :

List I List II
(A) Polarization () n,sind, =n sing,
(B) Reflection (I) Sense of E
(C) Refraction (ITI) Angle of incidence equal to angle of
reflection
(D) Dispersion (IV) Scattering

Choose the correct answer from the options given below :
(1) (A)-(D), (B)-(ID), (C)-(I1I), (D)-(IV)
(2) (A)-(IV), (B)-(ILD), (C)-(1D). (D)-(T)
(3) (A1), (B)-(I), (O)-(IV), (D)-(IT)

(4) (A)-(I), (B)-(ILD), (C)-(I), (D)-(IV)

i1 % g g 11 = firema Hifor -
-1 -1
(A) W M n, sind, = n, sin @,
(B) TuEd ) E #1832
(C)  I=aA (IIT) SAT9e F101, AT F 97 F =T
(D) wfeemm (IV) vl
et fim o et A & wdt I = i

(1) (A)-(D), (B)-(II), (C)-(ITI), (D)-(IV)
(2)  (A)-(IV), (B)-(ILD), (C)~(ID), (D)-(T)
(3)  (A)-(IID), (B)-(D), (C)-(IV), (D)-(IT)
(4) (A)-(ID), (B)-(IIL), (C)-(D), (D)-(IV)

1[Option ID=2277]
2[Option ID=2278]
3[Option ID=2279]
4[Option ID=2280]
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The correct expression for bond order of a molecule is

(1) 2%

(2)

(3)




N -N,
2]

N, +2N,
(4) 3
3TV] % STeY 59 I el =i i -
1y N.+N,
2
N, -N,
(2) 5
N -N,
(3) >
(@) N +2N,
3

1[Option ID=2281]
2[Option ID=2282]
3[Option ID=2283]
4[Option ID=2284]
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Which of the following relations hold good for the reaction

CO(&J+%0_-L_E)—> co.(g)

(1) AH-= AE—%RT

(2) L\H=AE+%RT

(3) AH=AE

(4) AH =AE+RT

Freaferfirn i & 2 7 B C0(g) + = 0.(g) — €O, (g) 3 o s 2vm?

1
(1) ﬂ.HzAE—ERT
1
(2) aH:aE+ERT
(3) AH =AE
(4) AH=AE+RT

1[Option ID=2285]
2[Option ID=2286]
3[Option ID=2287]
4[Option ID=2288]
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What is the possible number of optical isomers for a compound containing n dissimilar
asymmetric carbon atoms?

(1) n+l
(2) n+3
3) 2

@ 2




UF n SFHAN AHAMEG FEA FTEO] F AR F A T SEEEEal 7R 2 7

(1) p+1
(2) n+3
3) =z
(4) 2z

1[Option ID=2289]
2[Option ID=2290]
3[Option ID=2291]
4[Option ID=2292]
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G1iven below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A):  (CH 3], NH is more soluble in water.
Reason (R) : Because (CH 3|, NH can't form Hydrogen bonds with water.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)

(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(3) (A)is true but (R) is false
(4) (A) is false but (R) is true

49 91 %o 20 U # ;v AlYHeE (Assertion (A)) * =9 ¥ ferliga 2 a1 A 3 % F1T (Reason (R))

%Fﬂﬁ:
ATFE (A) (CH ), NH = H AT gemeie 21
T FIHI (CH ), NH F % W9 FEg a9 T a1 6|

IR HUE F A |, A= 50 T e § § OE 39 0 999 i

(1) (&) ¥ (R) 3 T 8 R (R), (A) F T =wEn R
(2) (A i (R) 3 ae &, S (R), (A) F @ =mem T

(3) (A) TR, #fF (R) s 2
(4) W oA R aat

1[Option ID=2293]
2[Option ID=2294]
3[Option ID=2295]
4[Option ID=2296]
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Arrange the following compounds 1n ascending order of increasing basicity.

(A) Ammonia

(B) Methylamine
(C)  Amiline

(D) p - Nitroaniline

(E) p - Methylaniline

Choose the correct answer from the options given below :

(1) (B (0), (A), (D), (E)
(2) (A). (B), (C), (D), (E)
(3) (D), (C), (E), (A), (B)

(4) (E) (A), (B). (C), (D)

fretfertiad Fsl #1391 AEEd % STER W sed HH H @ -

(A) T

(B) ToumE=rswA

(C) THAEA

D) di-AEZEE

(BE) . mamseeHeE

4= fou o faweai 4 9 wE 39 #1994 Fiiaw

(1) (B). (C), (A), (D), (E)
(2) (A), (B), (C), (D), (E)

(3) (D), (C), (E), (A), (B)
(@) (E). (&), (B). (C), (D)

1[Option ID=2297]
2[Option ID=2298]
3[Option ID=2299]
4[Option ID=2300]




